
1

2

For easier and better assembly,2 or more adults are required.

Please don't tighten the screws completely and
go back later for a final tightening of all the screws
after pieces are aligned with each other.

A

B

C

D

E

I

M8*65 8PCS

34PCS

6PCS

11PCS

16PCS

M8*40

M6*15

F

S4 1PC

3*12 2PCSG

H

M8*15 1PC

8 2PCS

J

K 4PCSM8*35 M8

27 28 29

X1

3
4

5

6

78 x4

9 x2

10 x2

11

12

13

14

15

16

17

RIGHT

LEFT

17 LEFT

16
RIGHT

18

18
19

20

21

22 x2
23

24

21

25

26

26

27

LED  strip 1

light bar

LED  strip 2

X1 Controller wire

Remote control

30

X1

X1

Anti stick paper
Gluing surface

velcro

31

X3

S10,S13 1PC

AutoCAD SHX Text
 

AutoCAD SHX Text
 



1

Step2

4PCS

Step1

E 6PCSM6*15

S4H

E M6*15

S4H

x2

E

E

x4

3

8

10

E

3

5
E

E

E



2

Step3

B 4PCSM8*15

S4H

Step4

4PCSC M8*40

S4H

B

6

7
4

C

C

7

6

3



3

Step5

Step6

S4H

1PCD M8*35

S4H

18

25

D

2PCSD M8*35

D

D

19

23

23



4

Step7

S4H

Step8

2PCSD M8*35

D

D

Wrench

Wrench

S4H

4PCSD M8*35

M8 4PCS
S10,S13

D

A

1PCA M8*65

18

18
24

19

22

22

K
J

20

23

K

K

J

J



5

Step9

Step10

S4H

1PCA M8*65

A

20

24

18

18

19

20

18

18

21

21
D

D

S4H

2PCSD M8*35



6

Step11

Step12

B

B

4PCSB M8*15

S4H

15

Bottom

Top

Please pay attention to the direction during assembly

4PCSB M8*15

S4H

4
18

18

15

4

4

15

B

B

B

5mm



7

Step14

S4H

Step13

8PCSB M8*15

S4H

8PCSB M8*15

16 RIGHT

13 12

11 14

5mm

5mm

B

B

17 LEFT

B 16 RIGHT

B

13 12

11 14

Secure the top screw to 75%.
And then secure all screws
when all parts are aligned.

75%



Step16

8

Step15

15

S4H

4PCSB M8*15

11

13

12

14

15

B

5mm

Secure the top screw to 75%.
And then secure all screws
when all parts are aligned.

75%



9

Step17

6PCS

S4H

Step18

S4H

2PCSB M8*15

B

B

B

19

19

A M8*65

A

A

A

E

2PCSE M6*15

2

1



10

Step19

2PCS

S4H

C M8*40

4PCSE M6*15

E

E

E

9
2PCSF 8

C

C
F

C

G 2PCS3*12

I G

G

27

Step20

And then secure all screws when all parts are aligned.

AutoCAD SHX Text
 

AutoCAD SHX Text
 



11

Step21

Step22

velcro

LED  strip 1/LED strip 2

LED  strip 1

LED  strip 2

LED  strip 2

Thread embedding
buckle

Controller wire

26

28

LED  strip 1

light bar

LED  strip 2

X1

29

Controller wire
X1

Anti stick paper
Gluing surface

velcro

31

X3

29

LED  strip 2



velcro
26

26

12

Step23

Step24


	R67-说明书-01
	图纸和视图
	模型


	R67-说明书-02
	图纸和视图
	模型


	R67-说明书-03
	图纸和视图
	模型


	R67-说明书-04
	图纸和视图
	模型


	R67-说明书-05
	图纸和视图
	模型


	R67-说明书-06
	图纸和视图
	模型


	R67-说明书-07
	图纸和视图
	模型


	R67-说明书-08
	图纸和视图
	模型


	R67-说明书-09
	图纸和视图
	模型


	R67-说明书-10
	图纸和视图
	模型


	R67-说明书-11
	图纸和视图
	模型


	R67-说明书-12
	图纸和视图
	模型


	R67-说明书-13
	图纸和视图
	模型



